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1. Immediately fill in the particulars on this page of the Test
Booklet with Blue/Black Ball Point Pen.

2. This Test Booklet consists of three parts - Part I, Part II and
Part III. PartI has 30 objective type questions of Mathematics
consisting of FOUR (4) marks for each correct response.
Part II Aptitude Test has 50 objective type questions
consisting of FOUR (4) marks for each correct response.
Mark your answers for these questions in the appropriate
space against the number corresponding to the question in
the Answer Sheet placed inside this Test Booklet. Use Blue/
Black Ball Point Pen only for writing particulars/marking
responses on Side-1 and Side-2 of the Answer Sheet. Part III
consists of 2 questions carrying 70 marks which are to be
attempted on a separate Drawing Sheet which is also placed
inside the Test Booklet. Marks allotted to each question are
written against each question. Use colour pencils or crayons
only on the Drawing Sheet. Do not use water colours. For
each incorrect response in Part 1 and Part 11, one-fourth (V)
of the total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated for an item
in the Answer Sheet.

3. There is only one correct response for each question in Part I
and Part II. Filling up more than one response in each question
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the Answer Sheet of Mathematics and Aptitude Test-Part I
& II and the Drawing Sheet of Aptitude Test-Part III
alongwith Test Booklet for Part III to the Invigilator in the
Room/Hall. Candidates are allowed to take away with
them the Test Booklet of Aptitude Test-Part I & II.

6. The CODE for this Booklet is M Make sure that the CODE
printed on Side-2 of the Answer Sheet and on the Drawing
Sheet (Part III) is the same as that on this booklet. Also tally
the Serial Number of the Test Booklet, Answer Sheet and
Drawing Sheet and ensure that they are same. In case of
discrepancy in Code or Serial Number, the candidate should
immediately report the matter to the Invigilator for
replacement of the Test Booklet, Answer Sheet and the
Drawing Sheet.
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Part I / 9T 1
Mathematics / TfUTa

log,2, log;y (2 —1) and log;, (2*+3) are
three consecutive terms of an A. P. for :

(1) more than two real x.
(2) noreal x

(38) exactly one real x

(4) exactly two real x

If a circle has two of its diameters along
the lines x+y=5 and x—y=1 and has

area 9, then the equation of the circle is :
1) x2+y?2—6x—4y+4=0
(2) x2+y2—6x—4y—3=0
(B) x2+y?—6x—4y—4=0
(4)

4) 22+y?—6x—4y+3=0

A variable plane is at a constant distance
p from the origin O and meets the set of
rectangular axes OX; (i = 1, 2, 3) at points
A; (i=1,2,3), respectively. If planes are
drawn through A;, A,, A;, which are
parallel to the coordinate planes, then the
locus of their point of intersection is :

2

(1) x% + x5 2

2
+x3=p

1.

x o Thad 7l & fag log2, log;y (2 —1)
qellog, ) (2% +3) T HHITR FEI o I HATTI
wE?

(1) x% 9 Al arafasw 7Hl & faw
(2) x o forst ot smeafaes w9 & forg 74 |
(3) x % %had T arEdfas 71 & faw|
(4) x % %had 3 FRdfak AHI & faw)

Ifc TH 90 & QA AW @ISl x+y=>5 qdl
x—y=17% 37few € qon fog=h1 89%a 9 €,
U I HT FHH T

(1) x2+y?—6x—4y+4=0

)
2) x2+y?—6x—4y—3=0
(B) x2+y?—6x—4y—4=0
(4) x2+y’—6x—4y+3=0

T = qHAA Hedfog O ¥ Tk TR G p W
Tl § 3R wueifore fdwnal & uh wg=a
OX;(i=1,23)® fogatiA; (i=1,23) W
FHY: Hidewg H €1 AT Ay, Ay, Ay H
FreTier THae & FHIR g9dd WY 9 €, @
T dfaeeg foig w1 fag uar & -

2

1) x% + x5 + x%zpz

1,1 1.1 1,1, 1.1
2y —t——+_—=- 2) Tttt =
) X1 X2 X3 P @) X1 X2 X3 p
N S . TS .
2 2 27 2 I L R
(3) x1 X2 Xs p (3) xl x2 x3 p
1,1 .1 1 1,1 .1 1
3T 37T 373 3T 3T 373
(4) x1 x2 x3 P (4) x1 x2 Xa p
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If the mean and the standard deviation of
10 observations x;, x,, ...... , X1 are 2 and 3
respectively, then the mean of
(x,+1)? (x,+1)?, ..o, (x9+1)? is equal
to:

(1) 18.0
(2) 135
3) 14.4
(4) 16.0
1- 5 sin® x (x)
1 '[cossx sin® x = cfossx *C o then
flx) is :
(1) —cotx
(2)  —cosec x
(3) cosec x
(4) cot x

1 k
If Sg =(0 1] , keN, where N is the set of

natural numbers, then (S,)" (S,) !, for

neN, is :

1) Son—k

(2 Sam+k-1
B) Syry k-
@ Sy,

Consider the differential equation,
ydx — (x+y?)dy=0. If for y=1, x takes
value 1, then value of x when y=4is :

Ffe 10 geTon Xy, Xo,

...... , Xp 1 HTEA Tl

s fagdd w9 2 991 3 8, @

(0 +1)% (x,+1)%,

, (x19+1)% 1 HIEA

K

(1) 18.0
) 13.5
(3) 14.4
4) 16.0

— 5 gin?
?qﬁ{.[l 5smxdx: f(x) +C 3 ot

cos® x sin’ x c0s® x
fx) TR T
(1) —cotx
(2) —cosec x
(3) cosec x
(4) cot x

afg 9Td FEAsl & §=E N & fag

Skz[l k], keN %, ql neN & faw

0 1
(CHRCAREE
M) San—«k

) Son+k-1
B Sy
(4)  Sy_y

AIHAT FHHIT ydx — (v +y2)dy =0 T
foem #ifw | afty=1% T+ F AT 1%,
Fﬁy=4ﬁo‘ﬁ1"{x®qﬁ%:

(1) o4 (1) 64
2 9 2) 9
(3) 16 (3) 16
(4) 36 4) 36
M/Page 3 SPACE FOR ROUGH WORK / T% &4 & felt smre
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8.  Let fx)=|x—x,|+|x—x,|, where x,and x, | 8.  #F flx)=|x—x,|+]x—x,| T, STet xq AT x,
are distinct real numbers. Then the ﬁfwwﬁmwﬁ%ﬁwﬁg@aﬁw
number of points at which f(x) is minimum, ISERTS f(x) BT | FAdH %, g
is:
(1) more than 3 (1) 39 sifus
2 1 2 1
G) 2 @) 2
4) 3 4 3
) x—4 y—2 z-—N\ «x—4 y—2 z—N\
9. If the lines T - 1 " 3 and | 9. Afc @ A T aod
+2 +2 !
% =7 > = i intersect each other, then % =Y > = i TER gfdssdt %, LIPNESE
\ lies in the interval : AU | fea ®, s ©
1) (9 11) (1) (9, 11)
2) (=5-3) 2 (=5-3)
(3) (13, 15) (3) (@13, 15)
4) (11, 13) 4) (11, 13)
L i >2 L Y
10. Let f(x)=( M , 10. = f(x)=1 [
a+ b if ] <2 a+bx* AR |y <2
then f(x) is differentiable at x= —2 for : g x=-2W f(x) SATHAAE g, 9
3 1 1
= — d b = — = — T‘WT b = —
@ 4 an 16 n 4 16
3 1 1
=—andb= — — =2dqqp=— —
(2 a=gan 16 @ 7=7 16
1 1 1
-~ —andb=— - Lamp= L
(3) a an 1 (3) a T
1 1 1 1
=—andb=- — =—dqdMb=— —
@ an 16 4) 4 16
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11.

12.

13.

The area bounded by the curves y?>=12x
and x2=12y is divided by the line x=3 in
two parts. The area (in square units) of the
larger part is : http://www.iitscholars.com

(1) 24%1

@ 17
@) 4
@ 137

Let P be a point in the first quadrant lying
on the ellipse 9x2+16y2=144, such that
the tangent at P to the ellipse is inclined at
an angle 135° to the positive direction of

x-axis. Then the coordinates of P are :

16 9
(1) ?'g)
o (2]

8 77
(3) 5’7)

43
@ ﬁﬁ)

Suppose that six students, including
Madhu and Puja, are having six beds
arranged in a row. Further, suppose that
Madhu does not want a bed adjacent to
Puja. Then the number of ways, the beds
can be allotted to students is :

(1) 384
2) 264
(3) 480
(4) 600

11.

12.

13.

Elaﬁy2=12xﬂmx2=12y%3ﬁ_dﬁb{ RN
%I, W@ x =3 §RI T 97N | die1 T g1 a8

T T &5Thel (o7 SehTEal H) ¥

(1) 24%

@ 47

3 4%

(4) 13%

T P, 99 FqAte 1t foig § 5 < 9m

9x2+16y2 =144 R feora T aon ef 990 &
fog P Sl T8 ¥991 @1 x-318] & ¥R
foen & @y 135° FT1 HIT I T, A P FH
[RELIEE

o (53]

o (5]
77
® s T]

43
@ ﬁﬁ)

A B: foenfe, 9 7y 9o e wfmfaa
T & Tw u ufe d et ©: faer €
IR AY, I o Herw arer foe 8l =ed!,
oo Tl @ I foway fa=nfe=i =1 fou s
m%,ﬁaﬁﬁ'@'f%:

(1) 384
2) 264
(3) 480
(4) 600
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14.

If the point (p, 5) lies on the line
parallel to the y-axis and passing through
the intersection of the
2@?+1)x+by+4@3+a)=0 and
(a2 +1)x —3by +2(a®+a)=0, then p is
equal to :

lines

(1) 3a
(2) —2a
B) —3a
4) 2a

14.

Ife T3 (p, 5) T W W feord & S -1 &
FATAT g LR T@ren’
22+ 1)x+by+4@3+a)=0 GRI
(@2 +1)x—3by +2(a3 +a)=0 F Ffqesg g
T Bt SN B, ?ﬁpﬂﬂﬂﬁ%:

(1) 3a
(2) —2a
B) —3a
(4) 2a

15. f(x)=|x log, x|, x > 0, is monotonically | 15. f(x)=|x log, x|, x > 0 {54 T H THi=
decreasing in : BIHHT %, TR
™ (e,=) 1) (e,»)
1 1
2) (0 : ;) 2) (0 / z)
1 1
® |1 o [
) 1,9 4 @,9
(x)=—5 e flv)=—C
16. Iffx—1+ex, 16. fx_1+ex’
f(@) f@)
Iy = _[ x gf x (1—x)} dx and I = I x glx (1=x)}dx qen
f(=a) f(=a)
f(a) f@)
L= [ slx@-xldx, L= | glx-widrg
f(-a) f(~a) ;
where g is not an identity function. Then STl ¢ T a9 e TR g, @ 1—2 FTOH
1
L
the value of I, I8 2.
@ -1 1 -1
@ 3 !
2 @ 5
®) 2 G) 2
4) 1 @ 1
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Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education

17.

18.

A vertical pole stands at a point A on the
boundary of a circular park of radius a and
subtends an angle « at another point B on
the boundary. If the chord AB subtends
an angle a at the centre of the park, the

height of the pole is :

(0%
2a cos— cot

1) 5 ot
.

2a sin— tana
(2) >
o

2a cos— tana
3) >

.
2a sin— coto
(4) >

3
LetZ<9<’ﬂ' and

\/2cot6+ 12 =K—cot6,
sin“0

then K is equal to : http://www.iitscholars.com

1 1
@ -1
@) 0

17.

18.

a 75911 9Tet T o<ita ek ot et o feerm
fiig A W T AR T @l § S ik
F T 3T f6g B W FIV o Fafkd w3 T
Ff Sfiar AB I=IT Tk o &g W I o 3Tdfa
FIAT €, AT T S T

(0
2a cos— cot

(1) , ot
. o

2a sin— tana
(2) >
a

2a cos— tana
3) >

.
2a sin— cot
(4) > o

mm%;<6<w%am

\/2 cot 0+ ,12 =K — cot 6%’
sin~o

A KSR T
1 1

2 -1
3) 0
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19.

20.

- o o
c

Unit vectors a, b are coplanar.

4

%
A unit vector d is perpendicular to them.

If(;x;))x(?x;) L

- -
and the angle between 4 and b is 30°,

_)
then ¢ is/are: http://www.iitscholars.com

i -2 +k
1
M 5
A A A
L mi2) + 2k
(2) - 3
A A A
; 2i +j —k
@ |7

n N »
i_l+2]_2k

@ .

Let N be the set of natural numbers and
for aeN, aN denotes the set {ax : xeN}.

If bN n cN=dN, where b, ¢, d are natural
numbers greater than 1 and the greatest
common divisor of b and c is 1, then d

equals :

(1) b+c

(2) max{Db,c}
(3) min{b,c)}
(4) bc

19.

20.

gfewr 4 9 W o@Ed 21 afe

(o x olxlxd) =17 - 154 Lk g
6 3 3

A 4 A p % S H B I0°E, Ao
%/%:

ZA' 2A' 2
—21 - 2] +
1
M) ;
A A VAN
=i -2) + 2k
(2) - 3
A A A
5 2i +j -k
G |7 —
A A A
@ L it 2) -2k
B 3

AT N Wihd Gemsil o1 9= € a7 aeN &
foIT aN wq==1 {ax : xeN} ST 1

T HN N cN=dN T, S& b, ¢, d 18 F
TThd HEATT € T b TT ¢ 1 HEwH HHIIIAS
1%, A dIUeR ® :

(1) b+c

(2) max{b,c}
(3) min{b,c}
(4) bc
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21. Let f([x)=(x+1)2—1, x= —1, then the set | 21. A flx)=(x+1)2-1, x=—1 g, @ =
fr s fo=F10} : fr: fl)=f"1@)
(1) contains more than two elements. (1) 939 Afyw e gl
(2) is an empty set 2) TH o ag=a Tl
(3) contains exactly one element (3) H %ad TH FATIS 7
(4) contains exactly two elements (4) ° Had I I g
22. The locus of the mid points of the chords | 29 qrgey 2= dpy H Sttereli, SRt @t m %,
of the parabola x?=4py having slope m is % uey fagaii 1 foig vy
a:
(1) circle with centre at origin and (1) wqa%mw%rmﬁg%amﬁw
radius |2pm|. 2pm| ® 1
(2) line parallel to x-axis at a distance () Tk Y@ § S x-3787 F GHIG § q07 3H4
[2pm| from it. |2pm| =1 T W R
(3) line parallel to y-axis at a distance (3) U @17 N y-3781 % HHI § 91 39
[2pm] from it. |2pm| T T W R
(4) line parallel to y=mx, m=0 at a (4)  y=mx, m=0 % TR @I T o1 39Q
distance [2pm| from it. 2pm| Y T W R
23. If the roots of the equation 23. gfe gHiEo
1 + 1 1 ) _ 1 1 1 )
x+p x+q r 2Te equal in magnitude x+p+x+q=; % ot afamT ¥ gaE € qen
and opposite in sign, then the product of fauda fo=el & €, < ol =1 o ®
roots is :
1y - P2 -qd) 12 g2
M ~3F 1 -5 @'-ah)
2 P*+9) 2 O+
1 .2, 2 1
@) 5 P*+a’) @) 5 ®*+a?)
gy - L pPrqd) 1 2 2
@ 3P 4 -5 0+
M/Page 9 SPACE FOR ROUGH WORK / T% &4 & felt smre
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24. A biased coin with probability | 24. T stfud fawws1, foad faa a1 1
p, 0 <p <1, of heads is tossed until a head IfeRdl p, 0 < p < 1%, T8 T ISTEAT (T &,
appears for the first time. If the probability 9 q o Teell 9K foa 7 e S Afs sew
that the number of tosses required is even TT JATA T §&AT 99 B &1 grfgswa
is 25,then p is equal to : %%,T‘ﬁpa'{l?ﬂ%:
» % M %
@ % @ Y
® 4 ® /5
@ @

25. If 25. Afg
48 47 46 2 1 48 47 46 2 1
—+ = —— =+ = —
23 34 45 4849  49.50 23 34 45 4849  49.50

51 1 1 1 51 1 1 1
=— +K[1+=+ =+ -+ = = +K[1+=-+=+ -+ =
2 ( 2 3 50 )'the“ 2 ( 2 3 50 )% at

K equals : K IR ®
1 2 1 2
@ -1 @ -1
5 1 5 1
G G -
4) 1 4 1

M/ Page 10 SPACE FOR ROUGH WORK / % &T& & fau sg
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26.

27.

28.

where

If f(x) = (x—p)(x—q)(x—r),
p < q < r, are real numbers, then the
application of Rolle’s theorem on f leads

to : http://www.iitscholars.com

(1) (p+g+ngr+rp+pg)=3
(2)  (p+q+n?>=3(qr+rmp+pg)
(3) (p+q+r)*> 3(r+mp+pg)

(4)  (p+q+n?<3(gr+rp+pg)

Sum of the last 30 coefficients of powers
of x in the binomial expansion of (1 +x)°

is :

(1) 258
2) 2%
(3) 228
(4) 259-22

If z is a complex number of unit modulus
and argument 6, then the real part of
z(1 — 2)

Z1 + z) I8

1 2 cos?

N |

0
2 1+ cos —
@ >

0
3) 1-sin
(3) sm2

.2 0

26.

27.

28.

e flx)=(x—p)(x—q)(x —r) B, SN
p < q < rafaE @@ E, A f /I F
T % STIIEN § e ©

1) (p+q+r)’gr+rp+pg)=3
2)  (p+q+n?=3(qr+rp+pq)
3)  (p+q+n?>3(gr+rp+pg)

4)  (p+q+n?<3(gr+rm+pg)

(1+x)%° % fgug Y8R & 1f<19 30 U&I & x
I o TR R AT

(1) 258

2) 2%

(3) 228

(4) 259229

afe ; t wfmy T € g A 1€ qen

.
iR 0 ®, ;1+2 1 AT I ®
(1) 2 cos® %

0
2 1+ cos —
@ >

0
3 1— sin —
(3) sm2
0
4 —2sin? ~
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29. Letp and g be any two propositions. 29. I pqAT g HIE & WA
Statement1: (p > q) <> gv~pisa EWI:(p—)(q)eqvaEFTFEﬁH%I
tautology.
Statement 2 : ~(~p Ag) A(pVv ) <> pisa HIT2: ~(~p A Q) A (p v ) <> p TH SATTH
fallacy. 2l
(1) Statement 1 is false and statement 2 (1) <Y1 IEI 7 T HUA 2 TA T
is true.
(2) Both statement 1 and statement 2 are
true. (2) HU 17 FHUA 2 A FA T
(3) Both statement 1 and statement 2 are
false. (3) YT 1T FHUA 2 T THA T |
(4) Statement 1 is true and statement 2
is false. (4) HU1TA T T FUYF 2 A T
b
30. 1 AABC'fla 0, th Lab
. In a , i c a=0, en .
L 30. TH AABC W, afa |1 ¢ 4=0 %,
c
1 b ¢
in?A + sin’B +sin?C is :
S S SIS sin?A +sin?B +sin?C © :
33
1 -
M = o 2B
2
(2) ¥ 9
4 -
@ 5
® 5
4 -
G 3
4) 2
M/ Page 12 SPACE FOR ROUGH WORK / % &T& & fau sg
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Part II / Y901 11
Aptitude Test / 3IusTa udteror

Directions : (For Q. 31 to 33). Which one of the answer figures is the correct mirror image of the
problem figure with respect to X - X ?

[Eor: (W31 @ 33F @) ST STFaa § G FI791 SH1a & 7T F97 SHT 71 X - X T G

el 9o Ffafera & 2
Problem Figure / J97 3‘775‘77% Answer Figures / 3¢ 377?77%/2#
X
X
1) 2) (©) (4)
X
| | | | |
32.
| p | | | |
@) @ ©) (4)
X
33.
X
1) @) ®) 4)

Directions : (For Q. 34 and 35). The problem figure shows the elevation of an object. Identify the
correct top view from amongst the answer figures.

T : (W34 335 & f@ )1 597 377l A ot o 7 GH@ 99 1@l 747 81 SR il &

T 3TH1 T&T S GV TEAY
Problem Figure / ¥97 37Iehld Answer Figures / 3 3775‘77%/277'
1) 2 (3) (4)
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Problem Figure / T97 ST1H1d

Directions : (For Q. 36).

Answer Figures / 3T sHfTIr

Q) (2) ®) 4)

Which one of the answer figures will complete the sequence of the three
problem fiqures ?

W STFE § G FT G STHlT B AT JOT SFaE F T G SIHEE
Answer Figures / 3?/?37757’7%?#

(sequence) T & ST ?

Problem Figures / J37 SWW
1) © 3 4)

AT : (7. 36 & forw) 1

o o L -

Directions : (For Q. 37 and 38).

Which one of the answer figures, shows the correct view of the 3 - D
problem figure, after the problem figure is opened up ?

fAdor : (W37 3 38 & @)1 3 - D I 37Th1a &1 @ierd W, I S0 4 T TaT g9 Hid qT &7
Problem Figure / F97 37Iehid Answer Figures /| 3T 377?7'7%27?'

- &

. @

]

—~
—_
~

—~
—
~

i

© [

&

—~
N
N

BN

@ [L1]

&

—_
[S8)
=

BN

K

& [

&

—~
N
s
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Directions : (For Q. 39 to 44).

fdor: (W39 @44 & fow )1

problem figure.

Problem Figure / 97 STIHIT

Find out the total number of surfaces of the object, given below in the

T 3Tl § feted a5g § 9agl #1 Fel GEI F1d BT/

39.

1) 10 2) 13 (B) 12 @) 11

1) 16 2) 14 (3) 15 @) 17
2

1) 15 2 11 (B) 12 (4) 14
42. %

1) 14 2) 15 (B) 12 (4) 13
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Problem Figure / 37 ST1H1d

43.

44.
1) 13 2) 15 3) 16 (4) 14

Directions : (For Q. 45 and 46).  One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, which one is correct ?

fAEer : (W 45 37 46 & fo@ )1 719 &1 7 SR sTplaa 7 @ T swFhy 99 SR fvw § gur w9 @
997 i 4 fordt &1 i G @el & g

Problem Figure / F97 37Iehid Answer Figures /| 3T 3-77?77%2#

45, a Is / j

2) €) )

—~

[y
~
—

16. < A o

(1) €) )

—~
N
~
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Directions : (For Q. 47 and 48).  The problem figure shows the top view of objects. Looking in the
direction of arrow, identify the correct elevation, from amongst the

answer figures.

39T : (W 47 3 48 & @)1 597 37l & awqail o7 9% g9 fe@ran 7 &1 R #1 fevn & dEa
BU S STl 7 & 3951 T T §¥F Tgaq |

Problem Figure / ¥97 37Iehid Answer Figures /| 3 377?77%1277'
—
v | oD sEAm 4T
—
D O

1 2
T ©) )

®) )

AN
. ¢§0 A= o

T

Pl N il

(©) (4)
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Directions : (For Q. 49 to 52). Find the odd figure out in the problem figures given below :

fFdor:(wa9 @52 fom) 79§ 7€ g7 srrplaal § 9 fagw s sard |

T =
49. \J\I\I\ \]\I\

(1) (2) 3) (4)

50. Q—K ‘)—G — a
1) 2) (©) (4)
(1) (2) (3) 4)
1) ) ®) 4)

Directions : (For Q. 53 to 55). The 3 - D problem figure shows the view of an object. Identify, its correct
top view, from amongst the answer figures.

39T : (9. 53 @55 & f1@)1 3-D 97 3TFfd & T &g 1 @ 77 &1 597 Tet SR §99, IN

52.

sTFiaEl 5 & Tgang
Problem Figure / 337 STIH1d Answer Figures /| 3T 377?:7%12#
53. — — — — L —
@) 2 ®) (4)
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Problem Figure /| F¢7 STHld Answer Figures / 3T 377?77%/2#

54. [ [ - [ [

(1) () ) 4)

Directions : (For Q. 56 and 57). The problem figure shows the top view of an object. Identify the
correct elevation, from amongst the answer figures, looking in the
direction of arrow.

FEor : (756 357 & fw )1 397 sl & fordt a5 7 SR 599 fe@mar 77 &1 ) #1 feem &
TE §U I SHIaEl § T 57H Tel GgE 599 T/

Problem Figure / Answer Figures / 3¢ 377?7'7%/7#
T SFIT

56. @

f M @ ©) @
57. | \

L] | |

} M @ ©) @
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Directions : (For Q. 58 and 59). How many minimum number of straight lines are required to draw
the problem figure ?

AT : (W58 359 & forw )1 719 & 7 o7 sfa ® T F W FT G FH, fEat Gt st
®1 STTTIHA & 7

Problem Figure / F97 3hid

58.

—~
—
~

21 @) 18 3) 19 (4) 20

59.

1) 12 2) 11 3) 10 4) 9

Directions : (For Q. 60 to 63). The 3 - D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking in the
direction of arrow.

&9 : (760 @63 & f@) 1 3-D T¥7 3750 4 T a5 3 U 99 Hi fo@rar 71 &1 Rk #1 fwm
7 T gV, 59% T TG g9 F1 I FFl § G TEHIT
Problem Figure /| F¥7 3Tld Answer Figures / 3?/'\"377?77%?77'

60. L] T [T ]

- [ ] [ ] 1 N
1) 2 ) @)
-0 B8 BA B8 BE
- L
1) 2 ®) @)
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Problem Figure / H37 3777?’7?/ Answer Figures / 3tX 377?)'7%/277
]
o2 ] —I:‘\E;, L]
. o ] ]

(1) 2 3) (4)

S0 B

Directions : (For Q. 64 and 65). How many total number of triangles are there in the problem figure
given below ?  http://www.iitscholars.com

39T : (64 3765 & faw )1 719 51 75 o7 s & Ay &1 o7 T fha &2

Problem Figure / F97 STIH T

64.

65.
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66. What secondary colour is obtained by | 66. ol 3R & T &1 3o | fHa @ A9
mixing blue and red colours ? 797 (secondary) 3 fierm 2
(1) Brown (1) @
(2) Pink (2) TSt
(3) Purple (3) S
(4) Orange (4) R
67. Why do large industrial buildings have | 67. &<t 3fi=ifie SARA H I F1 SR fewn & 3=
high located glazing on the North side ? TR IR F AT ST § 2
(1) Because the sun stays on the North (1) Hife g W foo & 91 7 war ©
side throughout the day.
(2) To get bright sunlight throughout the 2 @ feq gq‘ I A5 YA IH F foq
day.
(3) To stop the workers from looking (3) W™ HI a1l hl AN <@ § Tk 6
outside. faq
(4) To get uniform shadow - less light (4) T T wuA o = & et 9=
through the day. F fag
68. Fatehpur Sikri was built by : 68. THUSYX HIHA I AT o1 :
(1)  Shah Jahan (1) TSRl
(2) Jahangir (2) WRERA
(3) Akbar (3) oTHeR A
(4) Humayun @) TEA
69. Which one of the following is an odd | 69. T8 ¥ HH-T1 Y= A 7l @A ?
match ?
(1) Hot and Dry - Jaisalmer (1) TR R @ - AR
(2) Hot and Humid - Chennai (2) TRE AR TH - =
(3) Cold and Dry - Ladakh (3) 2T AR gH@I - We@
(4) Temperate - Shimla (4) TAST (Temperate) - e
70. Which one of the following is a sound | 70. 378 ¥ %H-9I, a7 wad geref & ?
reflecting material ?
(1) Fabric (1) =Uel
(2)  Thermocol () wHi®A
(3) Jute cloth (3) HIHT A HUS
(4) CGlass (4) EaE|
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71. Buckingham Palace is located in : 71. Sfdem Y9 Fal feod 2
(1) Singapore 1) famEd
(2) Paris 2 UmH
(3) London (3) dedH
(4) Geneva (4) SHenH
72. What is texture ? 72. WA FE?
(1) The way a surface looks and feels 1) 59 @ & Fag fowdt 3R He{H Bkl
e
(2) A solid colour (2) TH ™
(3) A type of shape (3) Teh TIE <hl TR
(4) Lines drawn in one colour 4) U& A FPTI'SI Tl'sp w
73. Which one of the following material | 73. ARl & T & g, fF=ifea °§ @ I
cannot be used in its original form for T SO Hel SRR H gEIHI T8l TR S
construction of walls ? Hehdl ?
(1) Granite (1) e
(2) Fly ash (2) B T
(3) Basalt (3) dEE
(4) Laterite (4) FERE (AeE)
74. Who among the following is not an | 74. TTH ¥ -1 AGHN T8 8§ ?
architect ?
(1) Raj Rewal 1) TS @
(2) Zaha Hadid (2) SEIEER
(3) M.F. Hussain (3) THTE. g
(4) Hafiz Contractor (4) THIS HIgFR
75. Which one of the following is not a | 75. TT=ifehd # & ®H-¥1 ¥q=@ 7 T @rar ?
matching set ?
(1) England - 10 Downing Street (1) Tl - 10 THHT i
(2) San Francisco - Golden Gate Bridge (2) T WIFESR! - Teed e fos
(3) Washington - White House (3) MM - =g BHH
(4) Egypt - Mississippi River 4) e - foeffadt gfen
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76.

77.

78.

79.

80.

Lotus Temple in Delhi was built by :
(1) Muslims

(2) Jews
(3) Jains
(4) Bahais

Which one of the following is not a
matching set ? http://www.iitscholars.com
(1) Udaipur - Lakes

(2) Sundarbans - Mangroves

(3) Varanasi - Ghats

(4) Jaipur - Canals

Green architecture is promoted these days
because :

(1) Greenis a good colour
(2)
(3) It is environment friendly
4)

It costs less initially
It lasts longer

Which one of the following is an odd

match ?

(1) Tsunami - Oceanic Earthquake
(2) Deforestation - Climate change
(3) Ozone layer - UV rays
4)

4)  Shrinking Polar Caps - Earthquake

Which one of the following is not an
earthquake resistant structure ?

(1) Timber framed building

(2) RCC framed structure

(3) Load bearing brick walls building
(4) Steel framed building

76.

77.

78.

79.

80.

foeett o1 @led AfeX fovg a-m@m o1 ?
(1) HfeH |

(2) Fgfeai A

(3) SfEia

(4) e A

freiferd o @ ®F-w1 Ig= B & @ ?

(1) ST - it

2) =@ - HE

(3) ANUEH - HTE

(4) S - TR

3 Tl Bfa areqepen w1 Wieared fean s €
EVIE

(1) 0 TF TR

) 3o oy | w9 @ g €

(3) IS TATSRY % TFA §

(4) IE W TH Tl §

fr=ifra B @ a1 9= B TRl @ ?
(1) AT - HREEERE Y

(2) oH-STAAYU - SeAey Ired

(3) SSIH &l Wa - 1. foroi

(4) yefta A fage - ek
freAifera gf=l § @ ®F-a1 Yo7 falivs g2
(1) el % %A | J41 SARA

(2) SRELH. T & grE

(3) UR U AT g2l i IER i TARA
(4) VIA % WA | I ARG
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